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(A) NaHCO, (B) Na,CO,

(C) C(H,CH, (D) CH;(CH,),,COONa
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(C) 3-2 H A Iz (D) 2,3-= ¢ H o Uz

TR R MTRELE G X RS ?
(A) CO, (B) COY  (C) CH,0 (D) NH;
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(A) 13,14,10 (B) 13,14,13 (C) 14,13,10 (D) 14,13,13
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Sn(s) + 6CI (aq) + 4NOs (aq) + 8H'(aq) — SnCls* (aq) + 4NO2(g) + 4H>0(1)
bt E g oo g ALF 0 A?

(A) Sn (B) CI (C) NOj; (D) HY
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(A) HOCl  (B) O, (C) H,O (D) CO,
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(A) 36.0 (B) 37.0 (C) 38.0 (D) 39.0
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(A) NaNO; (B) NaHCO, (C) NH,Cl (D) CH,COONa
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(A) XY, ehA 3 i+ & 4 (B) XY, i+ it & %
(C) X,Yensi + i & 4 (D) X,Yihgrs i & $

S RREEF R R TS A RE R e
CO(g) +2H2(g) = CH30OH(g) AH°=-105kJ
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(A) 4o » g A

(B) " ®Fr BER

(C) H-t 5 k% F s

(D) # 4 CO& H, & -
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(A) Mg>Na (B) S>Cl (C) Na">Na (D) Cl>CI”
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Fe¥'(aq) + e — Fe?'(aq) E°=0.77V
Cu?*(aq) +2e~ — Cu(s) E°=034V
B 25°Cp > TR R ETHEAILS SRS (V) ?
2Fe*(aq) + Cu?*(aq) — 2Fe**(aq) + Cu(s)
(A) 1.11 (B) —1.11 (C) —0.43 (D) —0.09
TR G AT W Y
(A) CH,O (B) CH,OCH,
(C) CH,COCH, (D) CH,COOH
Be 025 R ehE I Xo der 50 F Ak 2 2RI 0 R e A
Weif hps prdn 7 40 1 0.10M NaOH 38 33 i if %0 & & 3f 2% B
PEoo £ )42 25.00 2 NaOH 3% » RIE 3 p X s 5 £ & 7
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(A) 50 (B) 100 (C) 125 (D) 150
B27°CHF 3 - B 6022d3BMEF 5§ (Ny ) BS S
0.41 ~ % & > ‘—M’gwp\ z7F 5t nmi g ? (R+E 1 N=14.0)
(A) 0.13 (B) 0.25 (C) 1.4 (D) 2.8
i 25°C P > & T A F iR B F O E

C(s) +02(g) — CO2(g) AH° =-394 k]

2C0(g) + 02(g) — 2CO2(g)  AH® =—566 kJ
w25°CHE » TAF otk B r RES S (KI) ?

2C(g) + O2(g) — 2CO(g)
(A) —172 (B) —-222 (C) —-960 (D) 172
3 -7 /%/ﬁq*ﬁtm?r‘}ialOSg/mL’ zrP e EaAOETE ARAE G

A
“M’?a”WﬂL&mWﬁi ER (M) 5092 (oo
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(A) 6.7x10* (B) 7.0x10™* (C) 0.67 (D) 0.70
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(A) 4 HCIH 23 % /}‘T}' AiNH3‘7/F\}\ it

(B) 14 NaOH # # ;3 ;% j# % CH;COOH 3

(C) ™ KMnOy#& %73 & iF <7 7 C204‘m g ;,f;;

(D) #) 4 F & #l £ KIO; 2 NaHSO; 5 F J i#
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A MBEAH R F B P et LR
(A) F JsehiE i o 3 %

(B) #f 4 & s ehit F ¥ ¥

(C) 3 4c F b T 7% #

(D) # " F a2 s g

te 25°C P> CaFyenip 2 & 45 (K ) 5 40x1071 e £ 4 - 72 i sh Ca™
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A B e
B 25 °C pFos Ak ke of B A W 5 450mmHg e
150mmHg « # & e % 102 i Bt bR & > F R &
ni’mﬁ“fﬁ é/&?"fr’ ’ EJ,;J—J:;F 4 f\:{%ﬁ,’iﬂ/”\ﬁ"{g s
(A) 0.25 (B) 0.33 (C) 0.50 (D) 0.60

EREET 0 FFEFFTNFE L AE 0 BF RN AT
3H2(g) + N2(g) — 2NHs(g)

Be 6.0 Sind F 2 5605 F FF ok ST ARG ag 2

(R+€ : H=1.0> N=14.0)

(A) 17.0 (B) 25.5 (C) 34.0 (D) 51.0

TR KT RS A A T REF 2
(A F@ B AR (O pFm@ (D) WEH

TG ML it o o AR D
(A) # 1 %4 (-COOH)

(B) © it B 3 % K

(C) & e ps b A B fE 4
(D) © fhfee ™ & 7 fia I 5 fk
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Cu(s) + HNOs(aq) — Cu(NOs)2(aq) + NO2(g) + H20(1) ( e AT f?—“)
FUB) EHT g R RN el P HNOyeh B B 5 0

(A) 1 (B) 2 (C) 3 (D) 4

-5 = F (NO) hAafEF B4

2N20(g) — 2N2(g) + 02(g)

BOF s - BF oo f 600 °C B 0 N,Oeh4 4B 4 5 0.20 % F
BoEF R SOf 0 NOHE 4 RS - 25§ NOs s s R 4
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(A) 25 (B) 50 (C) 100 (D) 150



38.

39.

40.

109 # 5152

< B w i B
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(A) n=2 ->n=1
(B) n=4 5n=

TOF AL G PHERERY e TG ?
(A) Zn(s)+2HCl(aq) —
(B) CaCOs(s) +2HCl(aq) —

Zh,
(C) KClOs(aq) —2%
MnO,

(D) H202(aq) ——

& 25°CPE > § - % @5 % 5 3 0.10MNH,4- 0.10M NH,CI » 3% % @
B pH B a7 e BF R ? (& 25°C pF > NHyio
K, =2.0x10" ; log2=0.30)

(A) 4& 52/

(B) 5 6 2 /&

(C) 9% 10 2 &
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